Hard line. Hard line.

OBPABOTKA TBEPObIX MATEPUAJIOB OBPABOTKA TBEPAbIX MATEPUAJIOB

ToKapHble gep>XaBKU

ON9 HAPY)XXHOIo TOHYEHUA
PACTOYHDbIE OEPXXABKW
OTPE3HbIE, KAHABO4YHbIE
PE3LIbl PE3bBOBbIE

Cn6, BonxoHckoe w. 111, od. 11
mob. 8 (911) 216 20 99
of. (812) 920 29 24

SP@HARDLINE.SPBRU /  WWW.HARDLINE.SPBRU / 8 812 920-29-24




MCBNLCIC

MCKNOO

MCLNOIO

MCMNCIC

MCMNOI =100

MCSNOIO

MDJINCIC

MDPNLIC]

MDOQNLI

MSDNL]

MSKNLIL

MVINOO

MVQNOO

MYUNLCIO

MYVNOO

WTENLI[]

WTINCIC

scserd

scrLefd

seMeoo

s$pQCOO

SSBCLI]

Sspeif]

STFCOC]

STGCLI]

SRACCIC]

SRDCIC]

SRGCCIO

svuricl

syvOoo

MCEN[CI]

MCLNCIC

MDOQNCIC

MDZNCI

MSKNCI[C]

MTFNIC]

MTINCIC

MTONCIC

MTUNLCIC]

MTWNLIC

MVONCIC

MVUNLCIO

MVYWNLCIC

MVXNOO

MWLNCIC

SCLCI

a

KC[ICT

SpuUCTirl

SDWCTIC] SDXCIC

Sbzcrlr

SSKRCMO

STFCOIO

srTusOO-00 STUCODO

STWCOD LA ]

svxoQo

swueOO-0O0O

SER/LLIC]

SER/LLICI-B

SNR/LCICH-16

MGEHR/LOO

STGFR/LOO STGFR/LOC-F

CGBRALOO MGEURAOO

FGHACIC

MGIVR/LOO




Hard

Hard |
Turning tools Line.

Line. Turning tools

Excircle turning tool holder 8 812 920-29-24 8 812 920-29-24 Excircle turning tool holder

MCBN[][] LD RIARRE

‘ 7K

Insert

J1 ¥F
Holder

WWW.HARDLINE.SPB.RU

Clamp

AL 4T }

Clamp serew

71k 1
Shim

&

h1

WWW.HARDLINE.SPB.RU

=y ° Nl
Ny
ViR st (S; JJE 4 FEfE | DSk ERET F
il = Insert R—T (Beecfimim Shim Pin Clamp Clamp screw Wrench
Type 3
» > thLLh1f‘&"r\
MCBNR/L2020K12 20 20 125/ 32 | 20 | 25
MCBNR/L2525M12 | CN[J1204000] | 25| 25 (150 32 |25 32 | sCc1204 | MCTe17 |HL1814 | MCS625 | L2.5, L3.0
MCBNR/L3232P12 32| 32(170 32 | 32 | 40
MCBNR/L3232P16 | CN[I[J16060J0 |32 |32 |170 35 32 |40 | SC1604 | MCT822 L3.0, L4.0
—T—T—T—T—T1 HL2217 | MCS830
MCBNR/L3232P19 | CN[I[J1906[JJ | 32|32 |170 40 | 32 |40 | SC1904 | MCT1022 L4.0
MCGN[LI[] i LBl RE
=Y ok
X f I“’z_
L1
]
1
Kk ¥+ (Si T4 s JEdR | XK BEET T
ZFEL_I Ej‘ Insert Rj‘ (Slzﬂ) mm Shim Pin Clamp Clamp;%;ew Wrench
Type w
& h| b| L|Li|hif ‘ ‘ o N
MCGNR/L2020K12 20 | 20 (125 32 | 20 | 25
MCGNR/L2525M12 | CN[I(1120400] | 25|25 150 32 |25 |32 | SC1204 | MCT617 | HL1814 | mcsezs | L2.5, L3.0
MCGNR/L3232P12 32 |32(170 32 | 32 | 40
MCGNR/L2525M16 A 25|25 (150 35 | 25 | 32 S5HR | moram
i L3.0, L4.0
MCGNR/L3232P16 | 32|32 170 35 | 32 | 40 | HL2217 | MCS830
MCGNR/L3232P19 | CNOI190600 | 32 |32 170 40 |32 |40 | SC1904 | MCT1022 L4.0




Hard

Line. Turning tools

8 812 920-29-24

8 812 920-29-24

Excircle turning tool holder

Hard

Turning tools Line.

Excircle turning tool holder

L PIEIDN 2
o e
g r %]
-{QH
07
kR Si ik ! L PRl | BCRERET | T
o Insert Rl Sl Shim Pin Clamp | Clampscrew | Wrench
Type I .
. <% Wb Llu|m|s | B | P ‘ o N
MCMNN2020K12 20| 20 {125/ 36 | 20 | 10
MCMNN2525M12 | CN[I[J120400] | 25 |25 |150|36 |25 [12.5| SC1204 | MCT617 |HL1814 | MCS625 | L25, L3.0
MCMNN3232P12 32| 32 [170| 36 |32 | 16
MCMNN3232P16 CNO[1e060 | 32|32 |170(/42 |32 |16 | SC 1604 | MCT822 L3.0, L4.0
HL2217 | MCS830
MCMNN3232P19 CNOO19060J01 | 32 | 32 [170| 46 |32 | 16 | SC 1904 | MCT1022 L4.0
MCMNLI[]-100 EDAARRE
{t=] 5
L r 1Y
L
0>
i £
58>
7 A ¥ (s VIE T T S e
S5 Insert B Ginsl Shim Pin Clamp | Clampscrew | Wrench
L h-;' h| b| L|Li|hi|f . v ‘ ' N
MCMNN2020K12 - 100 20| 20 [125/ 36 | 20 | 10
MCMNN2525M12~100 | CN[J[J12040J0 | 25| 25 |150| 36 |25 [125| SC1204 | MCT617 |HL1814 | MCS625 | L2.5, L3.0
MCMNN3232P12-100 32|32 (170|36 |32 | 16
MCMNN3232P16-100 | CN[JC16060J[J | 32 | 32 |170|42 |32 |16 | SC1604 | MCT822 L3.0, L4.0
HL2217 | MCS830
MCMNN3232P19-100 | CN[JC119060](1 |32 32 [170|46 |32 [16 | SC 1904 | MCT1022 L4.0

) EIRIARRE
&a i)
! o {
¥
=]
7K ; DAL L JEAR | oskEsT | W
FiU= Insert o N s Shim Pin. Clamp | Clampscrew | Wrench
T ;'f'
" ) thLl_hif. w "‘\
MCKNR/L2020K12 20 | 20 [125/ 32 | 20| 25
MCKNR/L2525M12 | CN[1[]120400[1 |25 |25 |150|32 | 25| 32| SC 1204 McTe17 | HL1814 | mCse25 | L2.5, L3.0
MCKNR/L3232P12 32 |32 (170| 32 | 32 | 40
MCKNR/L3232P16 | CNJ1606001 |32 |32 |[170| 35|32 | 40| SC1604 | MCT822 L3.0, L4.0
HL 2217 | MCS830
MCKNR/L3232P19 | CN[J[J19060J[] |32 |32 |170| 40| 32| 40| SC1904 | MCT1022 L4.0
MCLN[][] tIREIARRE
™ t”%
E =
L1
e o
i
Cb‘;
2 + (Sis - JI4 ey JEAR | ACSLARET #HF
ﬂ % Insert R_j— (SIZE) o Shim Pin Clamp Clamp serew Wrench
Type <= ;
S thL1hif.#"|\
MCLNR/L1616H12 16| 16 [100| 32| 16 | 20
MCLNR/L2020K12 20| 20125/ 32| 20 | 25
SC 1204 | MCT617 2 L2.5, L3.0
MCLNR/L2525Mm12 | CNDU1204000 Fogf o5 (4150 32 | 25 | 32 LRSI Maanss
MCLNR/L3232P12 32| 32|170| 32| 32 | 40
MCLNR/L2525M16 25| 25 |150| 35| 25 | 32
CON 1011606010 SC 1604 | MCT822 L3.0, L4.0
MCLNR/L3232P16 32| 32170/ 35| 32 | 40
MCLNR/L3232P19 32| 32 40| 32 | 40 HLZetT | Mesean
oN 00190600 0 SC 1904 | MCT1022 L4.0
MCLNR/L4040R19 40| 40 |200| 40 | 40 | 50

WWW.HARDLINE.SPB.RU

WWW.HARDLINE.SPB.RU




Hard Hard

Line. Turning tools Turning tools Line.

Excircle turning tool holder 8 812 920-29-24 8 812 920-29-24 _-__f' Excircle turning tool holder

L EDAIIR PIEIN
L B
*Aroz - e 5
- = 8 !
= £
L1
R
R =, a — »
CIIE)
_@ g,’l-?;
+ (Size # AR | AL : 7 K + (Size) Ji | P | JER | WCkERET | T
L= i IR (i B | RE | 5B B o Insert B [Blac] Shim Pin Clamp | Clampscrew | Wrench
T 2k, : g . Type =
e A A I LS SEnnennnl e I AL
MCSNR/L2020K12 20| 20 [125 32 | 20 | 25 MDPNN1616H1 1 16| 16100/ 35 | 16 | 8
MCSNR/L2525M12 | CN[J[112040001 | 25|25 (150 32 |25 |32 | SC1204 | MCT617 |HL1814 | MCS625 | L2.5, L3.0 MDPNN2020K11 DNCIC 110400 | 20| 20 [125/ 35|20 | 10 | SD 1103 | MCT513 | HL 1814 L2.0, 130
CERAaasP 3 32 | 32 |170| 32 | 32 | 40 MDPNN2525M1 1 25| 25 |150| 35 | 25 |12.5 MCS625
MCSNR/L3232P16 CN[I[J16060]] | 32| 382|170/ 35|32 |40 | SC 1604 | MCTB22 L3.0, L4.0 MDPNN2020K15 20| 20 [125| 42 |20 | 10
HL2217 | MCS830 DN 0115040000 SD 1506 MCT619
MCSNR/L3232P19 | CN[I[O1906000 | 32| 82 [170| 40 | 32 | 40 | SC 1904 | MCT1022 L4.0 MDPNN2525M15 ONDODis0s0n | 25| 25150 42 |25 125 op 404 HL2114 L2.5, L3.0
MDPNN3232P15 32|32 170| 42 | 32 | 16
MDJNLI[] i _ EDRIARRE EIEIARRE
L
2 fﬁ‘L - o
A ! 11 f !
| = = Ly
L1 L1
=8 Al7.5®
| = a
3 i T
3> 5
. N I
P F (Size) mm T A ER | BCkBET | BF Vi + (Si 5 ks oL H h T ]
w2 Insert RS (B Shim Pin Clamp | Clampserew | Wrench ! Inseﬁ‘ Gl e “Shim FF'Pin% ae -cu‘:.%%g uﬁih
Type < - - =¥ i
¥ h‘_b;LLlhlf-"’N e S hb_LLlhlf-""\
MDJNR/L1616H11 16 | 16 [100| 32 | 16 | 20 MDQNR/L2020K15 20| 20 [125/ 38 | 20 | 25
MDJNR/L2020K11 | DNOICJ 1104001 |20 | 20 |125|32 |20 |25 | SD1103 | MCT513 |HL 1814 12.0, L3.0 MDQNR/L2525M15 | DNDD 130400 (125 | 25 [150 38 | 25 | 32 SD1806 | \ioTe19 | HL2114 | MCS625 | L25, L3O
MDJNR/L2525M11 25 | 25 |150| 32 | 25 | 32 T MDQNR/L3232P15 32|32 (170 38 | 32 | 40
MDJNR/L2020K15 20 |20 |125|38 | 20 | 25
DN 00150400 SD 1506
MDJNR/L2625M15 | pv==t2ieo |25 |25 |150)38 |25 |32 | o2 0 | MCT619 | HL2114 L2.5, L3.0
MDJNR/L3232P15 32 |32 |170| 38 | 32 | 40

5 WWW.HARDLINE.SPB.RU WWW.HARDLINE.SPB.RU 6



Hard Hard

Line- Turning tools Turning tools Line-

Excircle turning tool holder 8 812 920-29-24 ) | 8 812 920-29-24 ) Excircle turning tool holder

N i ) x
L AR R MSKN[][] ;s DRI RER
& o
T . o
i i B b= ! =
L1
-+ /g® : j 7
S
L1
ik I (Si JIH Y Bt | BCKERET | T _ kK (S JI L b | BCLBE | BT
/B Insert )k (Size) mm Shim Pin Clamp Clamp screw Wrench ﬂ =k Insert R¥ (Size) mm Shim ~ Pin Clamp Clamp serew Wrench
Type ¢ ; Type (-5 : : . "
. ) hb_LL,h,f.v"N e " thLihlf.a"N
MSBNR/L2020K12 20|20 125/ 82 |20 | 17 MSKNR/L2020K12 20| 20 125 32| 20| 25
MSBNR/L2525M12 | SNJ1204000] | 25| 25|150/ 32 | 25 | 22 | SS1204 | MCT617 |HL 1814 | MCS625 | L2.5, L3.0 MSKNR/L2525M12 | SNO[J120400 | 25| 25|150 32| 25| 32| SS1204 | MCT617 | HL1814 | MCS625 | L2.5, L3.0
MSBNR/L3232P12 32|32 170| 32 | 32 | 27 MSKNR/L3232P12 82| 32170 32|32 40
MSBNR/L3232P15 | SN[I[]1150601(] |32 | 32|170| 35|32 |27 | SS1504 | MCT822 L3.0, L4.0 MSKNR/L3232P15 | SN[J[J15060J[] | 32| 32170/ 35| 32| 40| sS1504 | MCT822 L2597 | Wicssso L3.0, L4.0
MSBNR/L3232P19 32|32 |170| 40 | 32 | 27 HL 2217 | MCS830 (G MSKNR/L3232P19 | SN[JJ19060J(]1 | 32| 32 [170| 40 | 32 | 40| SS1904 | MCT1022 L4.0
SN [ 190601 $S1904 | MCT1022 :
MSBNR/L4040R19 40 | 40 |200| 40 | 40 | 35
MSDNLC][] LDRIARRE L LD AIAARE
LA
: g P “
L] L] = ?
& t _c':'(-— — = -
L1 Ll
e=s b \ ND
452 852
; ' Y- » FeER T3 Ak Tk GRMIDE | it | BCLEET | |/
5 ;Exseji s J%:L% EPPLi.n% (%n;ﬁ;» (%En%gﬁﬂ w%jjh 2 Tnsert S il Shim Pin Clamp | Clampseren | Wrench
& B . Type (N ;
e o thLlhlf.’"N > thLlhlf."’P\
MSDNN1616H12 16| 16 (100 34 | 16 | 8 MSSNR/L2020K12 20 | 20 |125| 32 | 20 | 25
MSDNN2020K12 sNOO 12040 |20 20| 125] 34 20 | 10 R MSSNR/L2525M12 | sN[]]1204000] | 25| 25|150| 32| 25|32 | 551204 | MCT617 | HL1814 | MCS625 | L25, L3.0
MSDNN2525M12 o5 | o5(150/ 34 | 25 [125 $$1204 | MCTe17 | HL1814 e MSSNR/L3232P12 32| 32170/ 32 | 32 | 40
MSSNR/L2525M15 25| 25|150| 35 | 25 | 32
MEphhasaapts 82 192 179 95| B 19 SN [J(J 150610 SS1504 | MCT822 L3.0, L4.0
MSDNN3232P15 SN[C1150600C] | 32| 3217038 |32 |16 | 551504 | MCT822 A r— L3.0, L4.0 MSSNR/L3232P15 32| 32170/ 35 | 32| 40 rasiy| MEssso
MSDNN3232P19 SNOO 19060001 | 32| 32 (170 42 | 32 |16 | 551904 | MCT1022 L4.0 MSSNR/L3232P19 A T 32| 32 |170| 40 | 32 | 40 Shaini e il
MSSNR/L4040R19 40 | 40 |200| 40 | 40 | 50 ’

7 WWW.HARDLINE.SPB.RU WWW.HARDLINE.SPB.RU 8



Hard Hard

Line. Turning tools Turning tools Line.
Excircle turning tool holder ( 8812920-29-24 ) ( 8812920-29-24 ) Excircle turning tool holder
MTEN[][] LBl RE L LDl RE

Il
- ol
3 3 L ! !
f * i
E =
L1
L1
| ""‘EO° o b
<@ - A
S 5
J K $ A J13k 4 | BCEkEsT | RF (S J b L i g -
o 5 g4 R (Size) mm )3 DR ROkEET | o 7 Rt (Size) mm Ja | R | R T BT
Type G ; 2 _
\1 hb_LL-lhlpr"'\ ko \1 hb'LL;}qu"’l\
MTENN2020K16 20 | 20 125/ 35 | 20 | 10 MTGNR/L2020K16 20| 20 [125| 28 | 20 | 25
MTENN2525M16 TN 16040001 | 25 | 25 |150| 35 | 25 [12.5| ST1603 | MCT513 | HL 1814 | MCS625 | L2.0, L3.0 MTGNR/L2525M16 | TN[I[116041] | 25| 25 |150| 28 |25 |32 | ST1603 | MCT513 | HL1814 | MCS625 | L2.0, L3.0
MTENN3232P16 32 |32 170/ 35 | 32 | 16 MTGNR/L3232P16 32| 32 |170| 28 | 32 | 40
MTENN2525M22 25|25 |150| 38 | 25 |12.5 MTGNR/L2525M22 25| 25 (150 25 | 32
TN 00 22040107 ST2204 | MCT617 | HL1917 | MCS830 | L2.5, L4.0 TN 00 220400] > = ST2204 | MCT617 | HL1917 | MCS830 | L2.5, L4.0
MTENN3232P22 32 |32 [170| 38 | 32 | 16 MTGNR/L3232P22 32|32 (170| 32 | 32 | 40
tIAIREE MTJNLI[] i LIAIREE
L
\ Acg ol
o ) i !
& f . = =
T L1
_ ” i 4 | e
518
AN : T4 LY et | ke | WP J (S T14k L M | BUCkERET | RT
Bile = Insert Ak (Size) mm Shim Pin Clamp Clamp serew Wrench pivge= Inzert R (Sl_zg)m_m <him Pin Clamp | Clamp screw Wrench
&> _ Type L :
e \" hb‘LLlhlfA"’-‘\ 2 \‘ thLlhlf‘v"N
MTENR/L2020K16 20| 20 [125| 28 | 20 | 25 MTJNR/L1616H16 16 | 16 |100| 28 | 16 | 20
MTFNR/L2525M16 | TN[JJ16040J0] | 25| 25|150| 28 | 25 |32 | ST 1603 | MCT513 | HL1814 | MCS625 |L2.0, L3.0 MTJNR/L2020K16 TR 20 | 20 [125| 28 | 20| 25 571603 | McTs1s | HL1s14
MTFNR/L3232P16 32| 32(170| 28 | 32 | 40 MTJNR/L2525M16 25 | 25 |150| 28 | 25 | 32 MGERES | ket
NR/L2525M22 2 150 32 MTJNR/L3232P16 32 | 32 (170| 28 | 32 | 40
MTEeAtkaie WOnzeonn o) 2 iR | 26 ST2204 | MCTE17 | HL1917 | MCS830 | L25, L4.0
MTFNR/L3232P22 32| 32|170| 32 | 32| 40 MTJNR/L2525M22 25 | 25 |150| 32 | 25 | 32
MTJUNR/L3232P22 | TN[J[J2204000) |32 |32 |170| 32 |32 | 40| ST2204 | MCT617 | HL1917 | MCS830 | L2.5, L4.0
MTJNR/L4040R22 40 | 40 |200| 36 | 40 | 50

9 WWW.HARDLINE.SPB.RU WWW.HARDLINE.SPB.RU 10



Hard Hard

Line. Turning tools Turning tools Line.
Excircle turning tool holder 8 812 920-29-24 (_ 8812920-29-24 Excircle turning tool holder
EDBIARRE . tDEIARRE
L
% tof ’4\5: fo%
o ! F . ] 1
L1 11
sl e
4 \ 0 e
i i
iz &)
&/
" " AT - kR i T GRIVN ] Bt | kEET | RTF
" B ﬂsﬁ St (Size) mm ’_’S{% qj;l;fﬁ (’%ﬁ %ﬁfﬂ ﬁﬁfb EJ_T 5}  Insen _ RA (Sie) _ Shim Pin Clamp | Clampserew | Wrench
Type T . L > ’ ’
¥P \ ] i 1 || | Fael B | § A ’ ‘ ’ ‘\ %ﬁ% h| b|L|L|hi|f ‘ ‘ : |\'
MTQNR/L2020K16 20 | 20 [125| 26 | 20 | 25 Ll e 20 |20 12540 |20 | 25
MTQNR/L2525M16 | TnOO 1600 | 25 | 25 [150] 26 | 25 |32 | ST1603 | MCTs13 |HL1814 | MCSé25 | L20, L3 MVQNR/L2525M16 | VNOICJ1604000 |25 |25 [150|40 |25 |32 | SV1603 | MCT513 | HL2114 | MCS625 | L2.0, L3.0
R TeTiE E32550T6 %2 %8 \ivo| 56 [ 4 MVQNR/L3232P16 32 (32 [170|40 |32 |40
MTQNR/L2525M22 25| 25 |1 32 |25 |32
TN OO 2204000 oe ST 2204 MCT&17 | HL 1917 MCS830 | L2.5, L4.0
MTQNR/L3232P22 3232|170/ 32 | 32 | 40
IR e L LD R
:g% 2 ;'?ﬁ
o !
= £ £ = e
L1 L1
— o3
s TV
: s _ j . LB 1 Ak 1 (S pak: G| HEAR | AUGkIRET | BT
- L Rt (Size) mm e | TR | 2 4K | B w5 e | s i e || T | G (Rl ¥
Type | =g Type | .
A S h| b| L|Li|haff - h| b| L|Li|h|f ‘\
=
MVUNR/L2525M16 25| 25|150| 21 | 25 | 32
MVJNR/L1616H16 16 |16 |100| 42 |16 | 20 VN 00 16040000 SV 1603 MCT513 | HL2114 | MCS625 |L2.0, L3.0
MVJNR/L2020K16 20 |20 [125| 42 | 20 | 25 MVUNR/L3232P16 3232|170/ 21 |32 | 40
VN (101 16040100 SV 1603 MCT513 | HL2414 | MCS625 | L2.0, L3.0
MVJNR/L2525M16 25 |25 (150| 42 | 25 | 32
MVJNR/L3232P16 32 |32 (170 42 | 32 | 40

1 WWW.HARDLINE.SPB.RU WWW.HARDLINE.SPB.RU 12



Hard

Line. Turning tools

Excircle turning tool holder

( 8812920-29-24 )

( 8812920-29-24 )

Hard

Turning tools Line.

Excircle turning tool holder

13

WWW.HARDLINE.SPB.RU

MV VN[ L EDAIRAE
/\rm‘ EN b
Fl \
$t — o -
L1
| e
<& -
5
G
PIN T (Si JJH HC A | RSk8Z4T T
i E} Insert Rﬂj’ (Slze) Aot Shim Pin Clamp Clamp screw Wrench
Tvpe B c
i SRR AR e ‘. o TN
MVVNN2020K16 20 | 20 [125] 48 |20 |10 ' :
MVVNN2525M16 VN[I160400(1 |25 |25 (150|148 |25 12.5| SV 1603 | MCT513 | HL2414 | MCS625 | L2.0, L3.0
MVVNN3232P16 32|32 |170| 48 |32 |16
MWLN[I[] L ED AR R
o %
& !
= £
L1
¥%?3’
B
kR i DAE: Y et | XSREEET | iRF
ﬁg E?" Insert R_‘j‘ (Sllﬂ'}) mm Shim Pin Clamp Clamp serew Wrench
Type =
”’ \ thLlhlf'W"'\
MWLNR/L1616H06 16 [ 36 [100).23 (16 | 20
MWLNR/L2020K06 | WN[J 0604001 | 20 | 20 [125| 23 | 20 | 25| Sw 0603 | MCT513 L2.0, L3.0
MWLNR/L2525M06 25 | 25 [150| 23 | 25 | 32
MWLNR/L1616H08 16 | 16 |100| 25 | 16 | 20 HL 1814 | MCS625
MWLNR/L2020K08 20| 20125/ 25 20|25
MWLNR/L2525Mos | ¥ V0 080400 o s T is0| 25 | 25 | 32 | SW0804 | MCT617 L2.5, L3.0
MWLNR/L3232P08 32|32 (170| 25 | 32 | 40

A TSR WA R R AL R R

PR ET

Clamp screw

7k
Insert
T
Clamp
B 4T
Pin
Ak
Shim
21k
Hnl(]f‘.r

WWW.HARDLINE.SPB.RU

14




Hard

Line. Turning tools

Hard

Excircle turning tool holder

Turning tools Line.

Excircle turning tool holder ' 8 812 920-29-24

O

7l R

Insert

J1 ¥

Holder

15 WWW.HARDLINE.SPB.RU

( 8812920-29-24 )

SCBCLI[]

EDRIHRRE

sl
7 K Rf b 4T T
bl "':3'“ Insert _J-( lze)m Serew Wrench
Type ’ -
e e h| b | L | bt e®
SCBCR/L1616H09 . . 16 | 16 (100 | 16 | 13
SCBCR/L2020K09 CC O009T3000 20 | 20 (125 | 20 | 17 M4 x10 Ti56
SCBCR/L2525M09 25 | 25 |150 | 25 | 22
SCBCR/L2020K12 20 | 20 |125 | 20 | 17
cC O1204000 M5x12 T20
SCBCR/L2525M12 | 25 | 25 | 150 | 25 | 22
SCKC[I[] tDEIARRE
LL_J
zl :
1
& =
=2 |
:
A R R (Size)mm SRET T
pi] "':3" Insert ( ] Screw Wrench
Type ~
= h| b | L[| e®
SCKCR/L1212H09 12 | 12 [100 | 12 | 16
SCKCR/L1616H09 i 16 | 16 | 100 | 16 | 20 MazR
ccdoeaTadid T15
SCKCR/L2020K09 20 | 20 |125| 20 | 25
SCKCR/L2525M09 25 | 25 |160 | 25 | 32 W10
SCKCR/L2020K12 20 | 20 (125 | 20 | 25
SCKCR/L2525M12 | cCO120400 | 25 | 25 | 150 | 25 | 32 M5 x 12 $50
SCKCR/L3232P12 32 | 32 |170 | 32 | 40

WWW.HARDLINE.SPB.RU

16




Hard

Line.

Hard

Turning tools

Excircle turning tool holder

( 8812920-29-24 )

 8812920-29-24 )

Excircle turning tool holder

Turning tools Line.

EDRIIRRR

h1

EDRIIR R

hi

‘%@> 1

% & P ! ff R +(Size)mi é"‘if-fi ol
Type \(:3 5 h i L . f w =
SCLCR/L1010H06 | CCOICI0602001 | 10 | 10 | 100 | 10 | 12 M2.5x 6 8
SCLCR/L1212H09 12 | 12 [100 | 12 | 16
SCLCR/L1616H09 16 | 16 | 100 | 16 | 20 MaxR
CcC Om0sT300 T15
SCLCR/L2020K09 20 | 20 |125 | 20 | 25
SCLCR/L2525M09 25 | 25 | 150 | 25 | 32 Bt
SCLCR/L2020K12 20 | 20 |125 | 20 | 25
SCLCR/L2525M12 | cCOICi2040001 | 25 | 25 | 150 | 25 | 32 M5 %12 T20
SCLCR/L3232P12 32 | 32 |170 | 32 | 40
) LIAEIRRE
-
-
= K=
%
T o
o g s i ok e
e ' h| b | L[ bt i
SCMCN1010H06 ccOmosoe0d | 10 | 10 |100] 10 | 5 M2.5x6 T8
SCMCN1212H09 12 | 12 |100| 12 | 6 s
SCMCN1616H09 conmoerann |15 16 [100] w6 | e -
SCMCN2020K09 20 | 20 | 125 | 20 | 10
SCMCN2525M09 25 | 25 | 150 | 25 |12.5 MaxAD
SCMCN2020K12 20 | 20 |125| 20 | 10
SCMCN2525M12 CCO20400 o5 55 [ 150 | 25 | 125 Mo xiz2 L

_ A = L 1) "F
bl ) ‘%‘ et R_J.(Slza)mm Stmew Wrench
Type. e :
ype . r,‘____:. o 'h L L. | il hi r ‘m
SDACR/L0808K07 8| 8 |125/ 15| 8 | 8
SDACR/L1010K07 DC [JJ0702000 10| 10 (125/ 15| 10| 10 M2.5%x6 8
SDACR/L1212K07 12| 12 |125| 15| 12| 12
SDACR/L1212K11 12| 12 |125| 22| 12| 12 i
SDACR/L1616K11 DCOONTION | 16| 16125 22| 16| 16 T15
SDACR/L2020K11 20| 20 (125 22| 20| 20 M4 x 10
L AR R
|
£
Vi 5 (Size)mm BRET
gl ‘%‘ Insert ! SR ) Serew Wrench
e — h| b [ L | Wi f i@
SDJCR/L1010H07 10 | 10 |100| 10 | 12
SDJCR/L1212H07 DC (000702000 12 | 12 |100| 12 | 16 M2.5%6 T8
SDJCR/L1616H07 16 | 16 | 100 | 16 | 20
SDJCR/L1212H11 12 | 12 |100| 12 | 16 el
*x
SDJCR/L1616H11 16 | 16 | 100 | 16 | 20 .
SDJCR/L2020K1 1 DEOOMTON M50 T20 [125] 20 | 25 i 5
SDJCR/L2525M11 25 | 25 | 150 | 25 | 32

17

WWW.HARDLINE.SPB.RU

WWW.HARDLINE.SPB.RU

18




Hard

Line. Turning tools

Hard

Excircle turning tool holder

- 8812920-29-24 )

Turning tools Line.

Excircle turning tool holder

h1

EDRIHRRER

-85,
)
: ) JF(Size)mm BT
#l ‘%‘ Insert (g Serew Wrench
Type — ’ : : -
- | r[o]e]n]s B C
SDNCNO0808K07 8 | 8 125| 8 | 4
SDNCN1010K07 10 | 10 | 125| 10 | 5
SDNCN1212K07 DC OOovo2010 12 | 12 | 125 | 12 3] M2.5x6 T8
SDNCN1616H07 16 | 16 (100 | 16 | 8
SDNCN2020K07 20| 20 |125| 20 | 10
SDNCN1212H11 12 | 12 [100| 12 | &
M4 x8
SDNCN1616H11 16 | 16 (100 | 16 | 8
SDNCN2020K11 DC OO1MT30O 20 | 20 | 125| 20 | 10 T15
SDNCN2525M11 25 | 25 [150 | 25 [125 M4 x 10
SDNCN3232P11 32 | 32 [170| 32 | 16
SDQCLIC] PN 2
L
1—d
=
7k Si AT
gﬂ '%‘ Insert Rjj-( 1_?.!.3]3111?!1 Screw Wrench
Type — : :
" — h| b | L | ¢ @
SDQCR/L1212H07 12 | 12 [100 | 12 | 16 2.5 T8
SDQCR/L1616H07 BETICR7ReI 16 | 16 | 100 | 16 | 20 e
SDQCR/L1212H11 12 | 12 [100 | 12 | 16
SDQCR/L1616H11 16 | 16 |100| 16 | 20 ME%S
SDQCR/L2020K11 ReLInTe00 20 | 20 [125] 20 | 25 T15
SDQCR/L2525M11 25 | 25 [150 | 25 | 32 Max10

tIaIiRRE
E)
0|
; Ak R (Sizel BRET WF
w5 Insert Hausun Serew Wrench
Type
| & b b [ L | b a(® \
SSBCR/L1212H09 12 | 12 | 100 12 | 9.5
SSBCR/L1616H09 16 | 16 |100| 16 | 13 M4 x 8 o
SSBCR/L2020K09 SCOD0STSLL 50 20 (125 | 20 | 17
SSBCR/L2525M09 25 | 25 [150 | 25 | 22 Mix10
SSBCR/L2020K12 20 | 20 | 125 20 | 17
SC 00120400 M5 x 12 T20
SSBCR/L2525M12 25 | 25 | 150 | 25 | 22
SSDCLI[] tDaIRRE
|
=
V= =
1 5 B
18>
7K R+ (Size AT HF
ﬂ %‘ Insert ) ( me}mm Screw Wrench
Type .
- N h|b|L | m|f . G
SSDCN1212H09 12 | 12 |100| 12 | 6
SSDCN1616H09 soomersn | 16| 16 (100 16| 8 M#:x8
SSDCN2020K09 20 | 20 |125| 20 | 10 et T18
SSDCN2525M09 25 | 25 | 150 | 25 [12.5 x
SSDCN2020K12 20 | 20 |125| 20 | 10
SC 1204000 M5x12 T20
SSDCN2525M12 25 | 25 | 150 | 25 |12.5

19

WWW.HARDLINE.SPB.RU

WWW.HARDLINE.SPB.RU

20




Hard Hard

Line- Turning tools Turning tools Line-

Excircle turning tool holder . 8812920-29-24 ) 8 812 920-29-24 ) Excircle turning tool holder

L PIEDN PIEDN
L
] S
= = .]' =
= |
= -
=)
- 0|
18
K R (Size)mm BRET F 7K (St 24T #F
= Insert i Serew ~ Wrench B Tales St (Size)mm Setav Wrench
Type = : ; T B '
NE2 b b | L ||t (S \‘ Ly =2 h| b |L| |t @
= s 15| 16 [ 160 16 | 20 STFCR/L1212H11 12| 12 [100| 12 | 16
SSSCR/L2020K09 SC o9t 20 | 20 [125| 20 | 25 M4x10 T15 STFCR/L1616H1 1 T 00110200 16 | 16 | 100 | 16 | 20 NS B8 -
SERPH/LERAEN0E 2l | 150| &3 | 32 STFCR/L2020K11 20 | 20 |125| 20 | 25
STFCR/L2020K16 20 | 20 |125| 20 | 25
STFCR/L2525M16 TCOO16Ta0] | 25 | 25 | 150 | 25 | 32 M4 x 10 T15
STFCR/L3232P16 32 | 32 | 170 | 32 | 40
STACOO L LIRS STGCOO L VAR AE
! ==L 1 | T
=
o ) )
a K (28] BRET BF VI R+ (Size)mm 5T F
FLUNR = Inzert R_\T( lze)mm Serew Wrench b= Insert _T( ize)mm Serew Wrench
Ty —— Ty S
Type \>7 h| b | L| £ a® \( I \>2 h| b | L | W & \Q
STACR/L0808K09 TC 110902011 8 | 8 |125| 8 | 8 M2.2x5 T7 STGCR/L1212H11 12 | 12 |100 | 12 | 16
STACR/L1010K11 10 | 10 | 125 | 10 | 10 TC 1102 16 | 16 | 100 | 16 | 20 )
TCOO1402000 M2.5% 6 T8 STGCR/L1616H11 ad W[N] M2.5x 6 T8
STACR/L1212K11 12 | 12 (125 | 12 | 12 STGCR/L2020K11 20 | 20 | 125 | 20 | 25
STGCR/L2020K16 20 | 20 | 125 | 20 | 25
STGCR/L2525M16 TCOO6T3OO 25 | 25 |150| 25 | 32 M4 x10 T15
STGCR/L3232P16 32 | 32 |170 | 32 | 40

21 WWW.HARDLINE.SPB.RU WWW.HARDLINE.SPB.RU 22



Hard
Line. Turning tools

Hard
Line.

Turning tools

 8812920-29-24

Excircle turning tool holder Excircle turning tool holder

SRAC[CI[] AR RE SRDC[CI[] EDAARRE
L
= T = 5 T 3
()
L1 1
g : e :
EillE = ﬁsei ) i :ﬁf ‘ﬁfh AR ﬁ,}j Jeb(Siee)mm iﬁ ﬁfh-
- -’ A g ] e ® \‘ o é,* h| b |L|Li|h|f G
SRACR/L1212H05 12| 12100 10 | 12 |12.3 SRDCN1212H06 1212|100 12 |12 | 6
SRACR/L1616H05 RC [1CJ0502MO 16 | 16 |[100| 10 | 16 |16.3 M2.2 x5 T7 SRDCN1616H06 RC [1[10602MO 16| 16 |100| 12 | 16 | 8 M2.5x 6 T8
SRACR/L2020K05 20| 20 |125] 10| 20 |20.3 SRDCN2020K06 20| 20 [125 12 | 20 | 10
SRACR/L1212H06 12 | 12 |100] 12 | 12 |12.4 SRDCN1212H08 12| 12100 16 | 12 | 8
SRACR/L1616H06 RC LIL10602M0 16 | 16 |[100| 12 | 16 (16.4 b, R % SRDCN1616H08 HG L0800 16| 16 |100/ 16 | 16 | 8
SRACR/L2020K06 20| 20 [125| 12 | 20 |20.4 SRDCN2020K08 20| 20125 16 | 20 | 10 M3 x 8 —
SRACR/L2525M06 25| 25|150| 12 | 25 |25.4 SRDCN2525M08 25| 25 (150 16 | 25 |12.5
SRACR/L1616H08 16 | 16 |[100| 16 | 16 |16.5 SRDCN1212H10 12| 12 |100/20.3 12 | &
SRACR/L2020K08 RCOICI0803MO | 20 | 20 | 125| 16 | 20 |205 M3x8 T10 SRDCN1616H10 16| 16]100/20.3| 16 | 8 M8
SRACR/L2525M08 25| 25 |150| 16 | 25 |25.5 SRDCN2020K10 RCLIT 1003MO 20| 20125 203 20 | 10
SRACR/L2020K10 20| 20 |125/20.3 20 |204 SRDCN2525M10 25| 25 (150/20.3| 25 12,5 M4 x 10
SRACR/L2525M10 REGTI003Ma 25| 25 |150(20.3 25 |25.4 Wit T SRDCN3232P10 32| 32 |170/20.3| 32 | 16
SRACR/L2020K10-M3.5B | RCMM1003MO 20 | 20 |125|20.3| 20 |20.4 M5 Ex 0B 1 SRDCN1616H10-M3.5B 16| 16 |100/203| 16 | 8 -
SRACR/L2525M10-M3.5B| RCMX1003MO 25 | 25 (150(20.3| 25 |25.4 SBDCN2020K10-M3.5B T oI 20| 20125203/ 20 | 10
SRDCN2525M10-M3.5B |  RCMX 1003MO 25| 25 150/20.3| 25 12,5 M3.5x 108
SRDCN3232P10-M3.5B 32| 32 (170{20.3| 32 | 16
SRDCN2020K12-M4.0B 20| 20 (125 25 | 20 | 10
SRDCN2525M12-M4.0B RCMM 1204MO 25| 25 (150| 25 | 25 |12.5 M4 x10B
SRDCN3232P12-M4.0B 32|32 (170 25 | 32 | 16

23

WWW.HARDLINE.SPB.RU

WWW.HARDLINE.SPB.RU

24




Hard

Turning tools Line.

Hard

Line. Turning tools

Excircle turning tool holder ( 8812920-29-24 ) 3- 8 812 920-29-24 ) Excircle turning tool holder

25

SRGCLI[] LD EIRR B8 SVJOI[] D BIARRE
- |
b ‘[' ji = =
3
| i o
©
al
2%! '%‘ 311503):'1.. RT}-(Size)mm fﬁi ii];:h ﬁ_‘:j ‘%‘ ﬁs_hjj RT\T{SizQ)mm fﬂ WIB!‘!'C]['
el é" h|b|L|Li|k| £ @ L g_ ! Elll &l ol B & @@
SRGCR/L1616H05 16| 16 |100| 9.5/ 16 | 20 SVJBR/L1212F11 12 | 12 | 90 | 12 | 16
SRGCR/L2020K05 RC CJC10502MO 20 | 20 [125|11.2| 20 | 25 M2.2x5 T7 SVJBR/L1616H11 VBOO110300] | 16 | 16 | 100 | 16 | 20 M2.5x 6 T8
SRGCR/L2525M05 25 | 25 |150|14.7| 25 | 32 SVJBR/L2020K11 20 | 20 | 125 20 | 25
SRGCR/L1212H06 12| 12 [100| 10| 12| 16 SVJBR/L1616H16 16 | 16 | 100 | 16 | 20
SRGCR/L1616H06 16| 16 [100| 10| 16 | 20 SVJBR/L2020K16 20 | 20 125 20 | 25
SRGCR/L2020K06 RCOILI0G02MO 75050 [125] 12 | 20 | 25 M2.5x 6 U SVJBR/L2525M16 VBOD160400 | 25 | 25 | 150 | 25 | 32 Méx10 s
SRGCR/L2525M06 25| 25 |150| 15 | 25 | 32 SVJBR/L3232P16 32 | 32 [170 | 32 | 40
SRGCR/L1616H08 16| 16 [100| 11| 16 | 20
SRGCR/L2020K08 RC [I[10803MO 20 | 20 125|12.7| 20 | 25 M3x8 T10 W B Jgﬁ;j RF(Size)mm ﬁg “ﬁi
SRGCR/L2525M08 25 | 25 [150[16.2| 25 | 32 Type é’*’ il al il &| 2 @ '
SVJCR/L1212F11 12| 12| 90 | 12 | 16
SVJCR/L1616H11 veaonosdd | 16| 16 | 100 16 | 20 M2.5x 6 T8
SVJCR/L2020K11 20 | 20 | 125 20 | 25
SVJCR/L1616H16 16 | 16 | 100 16 | 20
SVJCR/L2020K16 20 | 20 | 125 20 | 25
VC OO16040 M4 x 10 Ti5
SVJCR/L2525M16 25 | 25 | 150 | 25 | 32
SVJCR/L3232P16 32 32 [170 32 | 40

WWW.HARDLINE.SPB.RU

WWW.HARDLINE.SPB.RU

26




Hard Hard

Line. Turning tools Turning tools LINE.

Excircle turning tool holder 8 812 920-29-24 ( 8812920-29-24 ) Excircle turning tool holder

tIEIRRE L AR RE
L
[
1 i
z i [ i :
- 7
27 5- 7
3
| “:‘ £
e/ <
|
| Size SBRET T kR JUAF(Size)mm 1RET T
== JI::,&E'J: -R'EI‘[Slze)mm Serew Wrench ﬂ % Insert = ( } Serew Wrench
e St : T =T |
Type = 1 v | & |5 o | g M \ 'ype = nl Bl L i | # m
12 |12 | 90 | 12 | 16
SVQBR/L1212F11 12 | 12 | 90 | 12 | 16 SVUBR/L1212F11 -
SVQBR/L1616H11 VBLUMO3D 746146 [ 100| 16 | 20 M2-5x6 L SVUBR/L1616H11 VBODM00. =g e [1o0| 16 | 20 MZ2.5%6
SVQBR/L1616H16 16 | 16 [100| 16 | 20 SVUBR/L2020K16 20 | 20 125 | 20 | 25
SVQBR/L2020K16 - 20 | 20 [125| 20 | 25 s o SVUBR/L2525M16 VBL)16040]] | 25 | 25 | 150 | 25 | 32 M4 x 10 Ti5
svaprigsasiie | ool e T os Ts0 | 25 |32 % T15 SVUBR/L3232P16 32 | 32 [170 | 32 | 40
SVQBR/L3232P16 32 | 32 | 170 32 | 40 . =
Ak R (Size)mm ]
Qe : ﬁ % . Insert Serew Wrench
] % Jliseﬁ RTJ—(SIZB}H]ITI ﬁxfi &ih Type : _é‘j_f‘? b b L b ; m \
L =1 W | B |m | me| 2 & ' - ' 7
= ' - SVUCR/L1212F11 12 12 | 90 | 12 | 16
v 11 M2.5x 6 T8
SVQCR/L1212F11 veOot10a00 12 | 12 | 90 | 12 | 16 SVUCR/L1616H11 G EERIREE 16 | 16 |100| 16 | 20 %
SVQCR/L1616H11 16 | 16 | 100 | 16 | 20 MERR 18 SVUCR/L2020K16 20 20 |125| 20 | 25
SVQCR/L1616H16 16 | 16 | 100| 16 | 20 SVUCR/L2525M16 VC1604000] | 25 | 25 | 150 | 25 | 32 M4 x 10 T15
SVQCR/L2020K16 20 | 20 | 125| 20 | 25 SVUCR/L3232P16 32 | 32 |170| 32 | 40
VC 111604
— SVQCR/L2525M16 FIEERAI 25 | 25 | 150| 25 | 32 M4 x10 T15
SVQCR/L3232P16 32 | 32 | 170 32 | 40

27 WWW.HARDLINE.SPB.RU WWW.HARDLINE.SPB.RU 28



Hard

Line.

Turning tools

Excircle turning tool holder

 8812920-29-24

EDRIIRRR

h1

T 571 1 Tk
E A
| I
| 3J1HF K g .
| L (mm)
/—k K | 125 c
o M | 150 .
@ Q | 180
' ' R | 200 D
s | 250 '
1714 M=K T | 300
— U | 350 v
HE % i ) 1 e 4
X | #5%

7 H G

B s,mhf

C "‘1--!.-"

70

-

:

N

0

<.
o ]
A e e i o Wrench

o =3 ' h| b | L| h|f '
SVVBN1616H11 16 | 16 [100| 16 | 8
SVVBN2020K11 VBODO110300 | 20 | 20 | 125 | 20 | 10 M2.5x6 T8
SVVBN2525M11 25 | 25 | 150 | 25 |12.5
SVVBN1616H16 16 | 16 [100| 16 | 8
SVVBN2020K16 20 | 20 [125| 20 | 10
SVVBN2525M16 VBLILHB0IIL  "og [ og [ 1850 25 |125 Mams s
SVVBN3232P16 32 | 32 [170| 32 | 16

o8 Ay RSl .- ]

o s ||| L m
SVVCN1616H11 16 | 16 | 100 | 16 | 8
SVVCN2020K11 veriCHoscE: |20 20| 128 29 | 18 M2.5x 6 -
SVVCN2525M11 25 | 25 | 150 | 25 |12.5
SVVCN1616H16 16 | 16 | 100 | 16 | 8
SVVCN2020K16 20 | 20 | 125 | 20 | 10
SVVCN2525M16 VCOIDN60400 "5 | 25 | 150 | 25 |12.5 AR THh
SVVCN3232P16 32 | 32 |170| 32 | 16

29

WWW.HARDLINE.SPB.RU

1 2 3 5 6 7 8 9 10
2TIFFEE 4 % Ty 614 () 84111 J [ 10l i i kB
apn K "7 E ) D=1k {f & f+1.0mm
/ C ;l / E= i1 (i # £+2.0mm
/ X=H&
! EER

s FF._ u ‘“’Z’E
PR ET B B
W

L= Qmﬁﬁ'ﬂ

WWW.HARDLINE.SPB.RU

30



Hard Hard

Line- Turning tools Turning tools Line-

Inner bore turning tool holder ( 8812920-29-24 ) ( 8812920-29-24 Inner bore turning tool holder

MCKNLCI[] LRIAR R

= //;///2

i 2
L'_U_' L
™
7B B/ R (s pAEL gy | JER | RskEgr| WmE
ﬂ % Insert ?Eé Tj‘( lze}mm Shim Pin Clamp Clamp screw Wrench
Type Ny
" S0 e 0l 1L u e @ | P e~
S20Q-MCKNR/L12 ®26 |20 |14 [180|45 |19 |15° « HL 1810 | MCS620
S25R-MCKNR/L12 ©32 |25 [165/200|45 |24 |12° MeT 813 B
S32S-MCKNR/L12 CNOO120400] | ©40 |32 225250| 50 |30 |17° HL 1814 | mCS625 L3.0
S40T - MCKNR/L12 | ©50 |40 |26 (300|55 |38 [15° | SC1204 | MCT 617
S50U - MCKNR/L12 ®60 |50 |33 |350|70 |48 |12°
MCLN[][] LBIARRE
7K
— Insert <
) Ak BEAT
I "|“|:_.‘¥ﬁ AL, Clamp screw
mn
r T 7 R T | DR | R | BCKEET WTF
| ﬂdﬁ ﬂ % Insert gE% .Tj-( IZE]mm Shim Pin Clamp Clamp serew Wrench
* Type e
_ Shim “’ 77 | o |@d| £ L |Li|H|e| @B | JP ‘ P -
S20Q-MCLNR/L12 ®25 | 20| 13 180 45| 19 |15° % Mot 61 L1810 MCS620 |
$25R-MCLNR/L12 ©32 | 25165/200| 45 | 24 |12° _ o
[ 7l ¥ S32S-MCLNR/L12 | o204 | @40 | 32 |22.5/250) 50| 30 |17° HL 1814 |MCS625 |_3'0
Holder S40T-MCLNR/L12 ©50 | 40 | 26 [300| 55 38 |15°| SC1204 | MCT617
S50U~-MCLNR/L12 | ©60 | 50| 31 350 70 | 48 |12°

31 WWW.HARDLINE.SPB.RU WWW.HARDLINE.SPB.RU 32



Hard Hard

Line. Turning tools Turning tools Line.

Inner bore turning tool holder 8 812 920-29-24 8 812 920-29-24 ' Inner bore turning tool holder

MDQN[][] LIAlRRRE MDZN[][] LDRIARRE

K e/ R+ (Size)mm JIH HulEs | R | BEREBET| T K /b RF(Size)mm JIH fLLH | R | RCKRET) RF
Eid} %‘ Insert gﬂé _J—( bl )m Shim Pin Clamp Clamp serew | Wrench by %‘ Insert %% _‘H £ ) Shim Pin Clamp Clamp screw | Wrench
T - - 3 T —

s | SES oo |®d| £ | L |Li|H|a® ‘ ’ ‘ ’ ~ L 23 | pmn |®d| f | L |Li|H|a® ‘ ’ ‘ ’ ~J
S25R-MDQNR/L15 ®32 | 25| 17 |200| 45| 24 |12° X MCT 613 S325-MDZNR/L15 @40 | 32| 23 |250{ 50| 30 |17° 128
S32S5-MDQNR/L15 ©42 | 32 22,5250/ 50| 30 [17° L2.5 S40T-MDZNR/L15 | DNOO150400 ®©50 | 40| 27 |300| 55| 38 |15°| SD 1504 MCT 617 | HL2114| MCS625 ’

DN 015040000 HL2114 | MCS625 L3.0
S40T-MDQNR/L15 ®50 | 40| 26 |300| 60| 38 |15°| SD 1504 MCT 617 L3.0 S50U-MDZNR/L15 ®60 | 50| 32 |350| 70| 48 [12°
S50U -MDQNR/L15 ©63 | 50| 33 |350| 70| 48 |15°
MDUN[I[] EIEliR R MSKN[CI[] LD AIARRE

JI A B/ (S JIH b | R | ACKEE BT 71K B S (Eie VAE::S gy | FEf | BEkIBET WRTF
" 5 Insert %Eé S Shim Pin Clamp | Glampscrew | Wrench =2 Ansent %é EfRsnimn Shim Pin Clamp  |Clampserew |  Wrench
Type =2 ™. : I
NS pmin |®d| £ | L |Li|H || N ’ ‘ o Tige &) | Dmin |®d| £ | L |Li|H [a® . A ‘ P~
S25R-MDUNR/L15 ©32 | 25|16 |200| 45 |24 |[12° X MCT 613 S$20Q-MSKNR/L12 ©25 | 20| 13180 45| 19 | 15° X MCT 615 HL 1810 | MCS620
S$32S-MDUNR/L15 ®40 |32 |21 |250| 50 |30 [17° L2.5 S25R-MSKNR/L12 ®32 | 25| 17 |200| 45| 24 |12°
DN CI011504000 HL2114 | MCS625 13.0 L2.5
S40T-MDUNR/L15 ®50 | 40 | 26 |300| 60 |38 |15°| SD1504 | MCT617 : S82S-MSKNR/L12 | SN[IJ12040000 | @40 | 32| 22 (250 50|30 |17° HL 1814 | MCcSe25 | L3.0
S50U - MDUNR/L15 ®63 | 50 | 32 [350| 70 |48 |15° S40T - MSKNR/L12 ®50 | 40 | 27 |300| 55| 38 |15°| 851204 | MCT617
$50U - MSKNR/L12 ©63 | 50 | 34 |350| 70| 48 | 12°

33 WWW.HARDLINE.SPB.RU WWW.HARDLINE.SPB.RU 34



Hard Hard

Line. Turning tools Turning tools Line.

Inner bore turning tool holder ( 8812920-29-24 ) ( 8812920-29-24 ) Inner bore turning tool holder

MTFN[CI[] EDRIIRRE MTJNLCI[] PN 2

7K B/ F(Si JiE | g | R | ACkEBET| RF Ik B/ R+t (Size)mm T | g | R | BUCKRET) RF
" 5 Insert e RT(Slze)mm Shim Pin Clamp  |Clamp serew | Wrench B = Insert ?Lué i Shim Pin Clamp  |Clamp screw | Wrench
Type LS L& Type L
Voo e ufuln]e] da | P | @ o~ Ve run e | P P~
¥ g . ®32 | 25| 16 |200| 45 | 24 [12° MCT 510
S20Q-MTFNR/L16 ®25 | 20| 13 [180| 40|19 |15 ¥ MCT 510 | HL 1810 | MCS620 S25R-MTUNR/L16 | 1 oe0arry 12 X Giana | cesss | LasiEn
S25R-MTFNR/L16 ©32 | 25|165/200 45 | 24 |12° KAk $328-MTJINR/L16 ®40 | 32 | 22 |250] 45|30 |15°| MT 1603 | MCT513
S32S-MTFNR/L16 | TNOO160400 | ®41 | 32 |2255/250| 54 | 30 |17° PR | e— T
S40T-MTFNR/L16 ®50 | 40 |26.5/300| 60 | 38 |15°| ST1603 | MCT513
S50U - MTFNR/L16 ®60 | 50 | 31 |350| 65| 48 [12°

EDAIARRE EDAIARRE

wIil B/ +(Siz Pk L | ERM | RCKE4T| /RF g1 B e/ : T] 48 gy | R | wekgsr| wRE
ﬂ_ % Insert fn T R_J—( 1ze)mm Shim Pin Clamp Clamp serew Wrench _@_ 'E_l,‘ Insert BT R"‘T{Slze)mm Shim Pin Clamp Clamp screw | Wrench
Type i fLiz T, e flLiz
Vo e[ e [ruln e A | P o~ “” VR e [ fu]a]e] M | P o —
S20Q-MTFNR/L16R ©25 20| 13 |180| 40|19 |15° X MCT 510 HL 1810 | MCS620 S200Q-MTQNR/L16 ®25 | 20 (12.5/180| 40 |19 |15° X MCT 510 HL 1810 A MCS620
S25R-MTFNR/L16R ®32 | 25|16.5/200| 45 | 24 [12° iiBig S25R-MTQNR/L16 ®32 |25 |16 [200| 45 | 24 |12° 12.0
S32S-MTFNR/L16R | TN16040001 | ®41 | 32| 23 |250| 54 | 30 [17° HL 1814 | MCS625 | L3.0 S32S-MTQNR/L16 | TNOD160400 | ®41 |32 [22.5(250| 54 | 30 [17° HL 1814 | MCS625 L3.0
S40T-MTFNR/L16R ©50 | 40 |26.5/300| 60 | 38 |15°| ST1603 | MCT513 S40T-MTQNR/L16 ®50 |40 [265/300| 60 | 38 |15°  ST1603 | MCT513
S50U - MTFNR/L16R ®60 | 50| 31 [350| 65 | 48 [12° S50U-MTQNR/L16 ®60 |50 | 31 [350| 65 |48 |12°

35 WWW.HARDLINE.SPB.RU WWW.HARDLINE.SPB.RU 36



Hard

Line. Turning tools

Hard
Line.

Turning tools

Inner bore turning tool holder ( 8812920-29-24 ) ( 8812920-29-24 )

Inner bore turning tool holder

MTUNLC][] PIRIARRE MVQNCLI[] LAIARRE
| ¥ Fy— -
1 L ==
o B e/l RF(Size)mm Ak LHy | R | k4T BT K Heh Fs; T4 UDE | FEf | BEkIRET) R
it % Insert %;I&: ( ) Shim Pin Clamp Clamp serew Wrench piv} %- Insert i RT(Slze)mm Shim Pin Clamp serew Wrench
Type Tyl Type = L
\’ bmin |®d] 1| L[ Li|H oo 4B | PP ‘ P~ e > b |®d] £ | L L1 | H | oo | PP ‘ P -
S20Q-MTUNR/L16 ®25 20|13 (180 40 |19 |15° g MGT 510 HL 1810 | MCS620 S25R-MVQNR/L16 ®32 |25 |17 |200| 45 |24 |12° X MCT 510
S25R-MTUNR/L16 ®32 | 25 |16.5/200| 45 | 24 |12° S325-MVQNR/L16 ®42 | 32 |23 250/ 54 |30 [17° L2.0
L2.0 VN 00116040000 HL 2414 | MCS625
S325-MTUNR/L16 | TN[IC1604000] | @41 | 32 |22.5/250| 54 |30 [17° HL1814 | MCS625 | L3.0 S40T-MVQNR/L16 ®50 |40 |27 (300 60 |38 [15°| SV 1603 | MCT513 L3.0
S40T-MTUNR/L16 ®50 | 40 |26.5/300| 60 |38 [15°| ST1603 | MCT513 S50U-MVQNR/L16 ®63 |50 |33 350| 65 |48 |12°
S50U~MTUNR/L16 ®60 | 50 | 31 |350| 65 |48 [12°
MTWNLI[] LD A4R BE MVUN[CI[] LIEIARRE

Ak Hesh R (Si T el | iR | DEREET T # ok B T Sire JI3 o | Rl | BCkERET| |/FE
Eiy| %‘ Insert gﬂ% -ﬂ.{ HE)mm Shim Pin Clamp Clamp screw | Wrench SQ % Insert 2Eé R_J_( 1ze}mm Shim Pin Clamp Clamp serew Wrench
Type — : Type e .
* SEETonnney S AY IR P S B e[ P | € ||~
S20Q-MTWNR/L16 ©27 | 20|14 |180| 40 | 19 [15° X MCT 510 HL 1810 | MCS620 S25R-MVUNR/L16 ®36 25| 20 200/ 45| 24 |[12° X MCT 510
S25R-MTWNR/L16 ©32 | 25 (16.5200| 45 | 24 |12° S325-MVUNR/L16 ®42 | 32| 22 250/ 50| 30 [17° L2.0
L2.0 VN OO1604000 HL2114 | MCS625 L3.0
S325-MTWNR/L16 | TN 71604000 ®39 | 32 | 20 |250| 54 | 30 |17° HL 1814 | MCS625 L3.0 S40T-MVUNR/L16 ®50 | 40| 26 300/ 55| 38 |15°| SV 1603 MCT 513 s
S40T-MTWNR/L16 ®50 | 40 | 24 |300| 60 | 38 |15°, ST 1603 MCT 513 S50U -MVUNR/L16 ®©63 | 50| 32 350| 70| 48 |[12°
S50U-MTWNR/L16 @57 | 50| 29 |350| 65 | 48 |12°

37

WWW.HARDLINE.SPB.RU

WWW.HARDLINE.SPB.RU

38




Hard Hard

Line. Turning tools Turning tools Line.
Inner bore turning tool holder ’f".__ 8 812 920-29-24 ) (_ 8812920-29-24 Inner bore turning tool holder
MVWNL][] EIaliR R MWLN[C][] EIEliRRE
VoA J T
H
| |
0 -~ ] e, —
PN e—— D
| s ]
= :
il e/ R (Si ] PbEE | EMRL | BCKIBET I Vil e/ F(Size)mm AL g Fedr | BCEkEEET| T
Z"_.J‘ % Insert gﬂé _‘j‘( lze)mm Shim Pin Clamp serew | Wrench Eﬂ %. Thidet %_‘[‘_ R“T( 1ze_}mm Shim i Ciamps‘crew Weench
T g . T B L&z
" S |0 ed 11 u | o] | PP | € | o~ tee N M ed i [Lulu]e] @ | P € P~
S25R-MVWNR/L16 it ©40 | 25| 26 | 200 45| 24 | 12° X MCT 510 iii 5434 | Tissass L2.0 S16N-MWLNR/LOB ®22 (16 |11 |180 35 |19 |18° HL1810 | MCS620 L2.0
1604 2 :
S32S-MVWNR/L16 LI ®48 | 32| 30(250 50| 30 |17°| SV1603 | MCT513 L3.0 S20Q-MWLNR/LO6 | WN[I[]0604010] | @25 |20 | 13 (200 40 |24 |15¢ MCT 510 s
S25R-MWLNR/LO6 ©32 | 25 [16.5(250 45 | 30 [12° X HL 1814 | MCS625
S20Q-MWLNR/LO8 ®25 |20 (13 |180| 40 | 19 |15° MCT 613 HL 1810 | MCS620
S25R - MWLNR/LO8 ®32 | 25 [16.5/200| 45 | 24 |12° (5
$32S -MWLNR/LO8 | wN[I[JososCl] | ©41 | 32 | 22 |250 50 |30 |17° wLaEE |vesess | e
S40T - MWLNR/LO8 ®50 |40 |26 300 55 |38 [15°| SW0804 | MCT617
S50U - MWLNR/LO8 @60 | 50 | 31 350/ 70 |48 |12°
MVXN[L][] EIElIAR &

T

R

._ e R (Size)m | s | ER | wksT| &E
il = Insert %‘Eé —j‘( 28t Shim Pin Clamp  |Clampserew | Wrench

S20Q-MVXNR/L16 ©27 | 20|14 180 40 19 |15° X MCT 510 HL 1810 | MCS620

S525R-MVXNR/L16 ®32 | 25| 17 |200| 45 | 24 |12° 12.0

S325-MVXNR/L16 VN 16040000 ®42 | 32| 23 | 250| 50 | 30 |17° HL2414 | MCSB25 L3.0

S40T -MVXNR/L16 ®50 | 40 | 27 |300 55|38 |15°| SV 1603 | MCT 513

S50U-MVXNR/L16 ®61 | 50| 31 |350 70 48 |12°

39 WWW.HARDLINE.SPB.RU WWW.HARDLINE.SPB.RU 40



Hard Hard

Line- Turning tools Turning tools Line-

Inner bore turning tool holder 8 812 920-29-24 ) ( 8812920-29-24 _ Inner bore turning tool holder

SCLC[I[] IS 2

PLUNE = ;Eise]jt‘ ﬁdl\ e ﬁf{ wﬁih
Trpe = iff ®d| f |L |Li|H|a® «(®
S07K-SCLCR/L06-08 ®9 |8 |4 [125 18| 7 |15°
S08K-SCLCR/L06 ®10 |8 | 5 |125 20| 7 [13° M2.5%5
S09K-SCLCR/L06 ccrrosoenn | ®12 |9 | 5 125/ 24| 8 [13° T8
S10K-SCLCR/L06 ®13 (10| 6 |125 22| 9 [12°
M2.5x6
S12M-SCLCR/L06 ®16 (12| 7 |150 23| 11|10°
S12M-SCLCR/L09 ®16 (12 | 9 [150/ 27| 11 |12° M4 x 8
S14Q-SCLCR/L09 ®17 |14 | 9 |180 30| 13 |12°
S16N-SCLCR/L09 ccomoetan | ©20 |16 9.5]160| 30| 15]10° s
$20Q-SCLCR/L09 ®25 |20 {11.5/180| 35| 19| 8° M4x10
S25R-SCLCR/L09 ®31 |25 |14 |200 40| 24| &°
$325-SCLCR/L09 ®39 |32 17.5250 45| 30| 4°
$20Q-SCLCR/L12 ®25 |20 |12 180 40| 19| 8°
$25R-SCLCR/L12 cotmiooann | ©32 |25 [14.5(200 40| 24| &° M5 x 12 T20
$325-SCLCR/L12 ®39 |32 |18 |250 45| 30| °
RN S40T-SCLCR/L12 ®50 |40 |22 |300 50| 38| 4° z

BRET

Screw

71 ¥
Holder

1 WWW.HARDLINE.SPB.RU WWW.HARDLINE.SPB.RU 42



Hard Hard

IN€. Turning tools Turning tools Line.
Inner bore turning tool holder ( 8812920-29-24 ) ( 8812920-29-24 ) Inner bore turning tool holder
SCKCLI[] LIAIARRE SDUC[][] EIRIARRE

= = .U, J'rl I \\ E

. o @

'\-- __} i 1 |
L1
%] L
PN B/l L F(Size)mm YRET #®F A R = R F(Size)mm BT 0¥
bl Insert %E% ( ) Screw Wrench P Insert gﬂé ( ) Serew Wrench
Type — : . Type ‘e 5 .
' \‘:" : poin |@d| £ |L |11 |H |a° e G ' - o |®d| £ | L |Li|H |a® «®

S08K-SCKCR/L06 ®10 | 8 |5.5125| 25| 7 |13° 2.5x5 S10K-SDUCR/L07 ©15 | 10| 8 |125/ 25| g9 | 10° M2.5x5

S10K-SCKCRILO6 | ccrosoei | @13 | 10| 6 |125| 25] 9 | 120 T8 S12M-SDUCRILO7 | porrozoens | ©17 | 12 9 |150/ 25| 11 8° Th

S12M-SCKCR/L06 ©16 | 12| 7 |150| 25| 11| 10° NiEBra S16N-SDUCR/LO7 ©22 | 16| 11 |160| 30| 15| 6° M2.5x6

S12M-SCKCR/L09 ®16 | 12| 8 [150| 30| 11| 12° - S20Q-SDUCR/L11 25 | 20| 13 (180| 40| 19| 6°

X
S16N-SCKCR/L09 S ®22 | 16/9.5 160| 33| 15| 10° i S25R-SDUCR/L11 ®32 | 25/ 16|200| 40 | 24 | 4°
S20Q-SCKCR/L09 ®24 | 20(11.5180| 35| 19| 8° g s S$325-SDUCR/L11 DCOO11T300 ®39 | 32| 20 |250| 45| 30 | 4° M4 x10 Ti156
x
825R-SCKCR/L09 ®31 | 26|14 200 40| 24 | 8° S40T-SDUCRI/L11 ©50 | 40| 24 |300| 50 | 38 | 2°
S50U-SDUCR/L11 ®60 | 50| 29 [350| 55| 48 | 0°
tIalARRE SDWCL L[] RN
i e X
H
17,52 =
-----------------------
e
U
L
Ak g R 5F(Size)mm SRET 1T Ak B/ 51 (Size)mm BET T
ﬂ JE} Insert gﬁ% ( ) Screw Wrench i J’:yl Insert ?Eé ( ) Screw Wrench
Type - Type = - ;
" - bmin | ®d| £ [ L | Li | H |« (@ - wew | Dmn (4T L |LiH o o®
S10K-SDQCR/L07 ©13 [10| 7 (12524 | 9 |10° M2.5x5 S12M-SDWCR/LO7 ®19 |12 [10.5(150| 25|11 | 10°
$12M-SDQCR/LO7 | pe 0702000 o16 | 12| 9 150/ 30 | 11 | g° 25w T8 S16N-SDWCR/LO7 DCOO070200 | ©23 |16 |12.5(160| 30 | 15 | &° M2.5x 6 T8
el 4

S16N-SDQCR/L07 ©20 | 16 [10.5(160|30 | 15 | &° $20Q-SDWCR/L07 ®©27 |20 |14.5(180| 30| 19 | &°

$20Q-SDQCR/L11 ©25 | 20|13 [180/40 | 19 | &° S20Q-SDWCR/L11 ®25 |20 |14.5(180| 35| 19 | 6°

S25R-SDQCR/L11 DCOO14T3O0 | ©32 | 25|16 |200(40 | 24 | 4° M4 x 10 T15 S25R-SDWCR/L11 DCOONTIOD | ®32 |25 | 17 |200| 40 |24 | 4° M4 x 10 T15

$325-SDQCR/L11 ©39 | 32|20 [250|45 | 30 | 4° $32S-SDWCR/L11 ®40 |32 |20 (250 45|30 | 2°

43 WWW.HARDLINE.SPB.RU WWW.HARDLINE.SPB.RU 44



Hard Hard

Line. Turning tools

Turning tools Line.

Inner bore turning tool holder 8 812 920-29-24 ___'__:' 8 812 920-29-24 Inner bore turning tool holder

SDXCLI[] EDRIAR & SSKC[I[] ERIARRE

W G
(e

o
i

N

/b RF(si gy "T kK /b R +h(Size)mm L3 T
gﬂé . -\j‘( lze}mm Screw‘ Wrench E % Irl'§l.?'l1 %% { ) Screw Wrench
N oo _

e |@d| £ | L |1 | H |ae o® \‘ | b |®d| £ L |Li|H|e® (@
S08K-SDXCR/L07 ®10 | 8 | 5 [125[20 | 7 |12 S12M-SSKCR/L09 ®16 | 12/8.5[150 30| 11| 12° i
S10K-SDXCR/L07 ®13 |10 6 [125 |25 | 9 |10° MaBxs - S16N-SSKCR/L09 ®20 | 16/10.5/ 160/ 30| 15 10° e

: T
S12M-SDXCR/Lo7 | PCLD070200 | o46 |12| 7 150 (30 | 11 | 8° 520Q-SSKCR/Log | SCHHOTIL o 1 20(12.5 180 40| 19 & —
S16N-SDXCR/LO7 ©20 |16] 9 |160 |30 | 15| 6° M2.5x6 S25R-SSKCR/L09 ®31 | 25| 15 | 200| 40| 24 &°
$20Q-SDXCR/L11 ®25 |20 11.5/180 |40 | 19 6°
DC OO 117300 Lk 6 M4 x 10 T15
S25R-SDXCR/L11 ®32 |25 |14 [200 |40 | 24 | 4°
UIRIARRE SSSC[I[] LIEIARRE

: pIN: & 5 (Size)mm BRET iR T R %) R F(Size)mm 24T ﬁ%&
ﬂ{. % Insert %ﬂ% { ) Serew Wrench ﬂ ‘%‘ Insert %% ( ) Screw Wrench
Ly -— oo |@d| £ | L |Li|H|a® @ \‘ g N poi, |®d| £ | L [Li|H |a° @
S10K-SDZCR/LO7 ®15 |10 |85(125/30| 9 |12° M2.5x5 S12M-SSSCR/L09 ©16 |12 85 150 30 11 |12° —
b 4
S12M-SDZCR/LO7 | DC 0702010 ®18 |12 |9.5(150| 30 | 11 |10° T8 S16N-SSSCR/L09 ®20 |16 11.5 160 35 15|10°
S16N-SDZCR/L07 ®24 |16 [11.5/160| 30 | 15 | 8° M2.5x 6 S$20Q-SSSCR/L0O9 SC ] 0973010 ®24 |20 135180 40 19| 8° T15
S20Q-SDZCR/L11 ®28 |20 [14.5180| 40 | 19 | 8° S25R-SSSCR/L09 ®31 |25 | 16 200 40 | 24| 6° M4x10
S25R-SDZCR/L11 | pgOm 117300 ®34 | 25|17 |200| 45|24 | 6° M4x10 T15 S32S-SSSCR/L09 ©38 |32 19,5250 45 30| 4°
$32S8-SDZCR/L11 ®38 | 32 [20.5/250| 50 | 30 | 4°
45 WWW.HARDLINE.SPB.RU WWW.HARDLINE.SPB.RU 46



Hard Hard

Line. Turning tools Turning tools Line.

Inner bore turning tool holder 8 812 920-29-24 ( 8812920-29-24 Inner bore turning tool holder

STFCLIC] EDRIIRRE STUCLI[] EDAIARRE

o ?I_]r': Ej ?ﬁ% JF(Size)mm ﬁjj’; ﬁﬁi‘h o iﬁ Se)j ﬁﬁ_j Ff(Size)mm ff‘]; “th
e \5’“ A2 odl £ L |1 |H|as ® \‘ e \3:" 82 lod| L |u|H e «®
S08K-STFCR/L09 ®11 | 8 |55(125 23| 7 | 15° S08K-STUCR/LO9 ®11 | 8 (5512523 |7 |15°
S10K-STFCR/L09 TC 009020107 @®13 |10 | 6 |125/ 24| 9 |13 M2.2x5 T7 S10K-STUCR/L09 TeTsear ®13 10 |6.5(125|24 | 9 |13° Maka i
S12M-STFCR/L09 ®16 (12| 7 [150| 27|11 | 10° S10K-STUCR/L11 ®13 (10| 6 [125|24 |9 |12° M2.5x5
S10K-STFCR/L11 ®13 |10 | 6 |125| 24| 9 |12° M2.5x5 S12M-STUCR/L11 ®16 (12| 7 |150 (27 |11 |10°
812M-STFCR/L11 ®16 (12| 7 |150] 27|11 | 10° S16N-STUCR/L11 TcOote200 | 20 |16 9 (16030 [15 | &° T8
steN-sTFeRL1T | TCHHMOH0 o0 T46 | 9 [160] 30[ 15 | #° M2.5x6 8 S20Q-STUCR/L11 ®25 |20 11 /180|35 [19 | 6° Meides
S20Q-STFCR/L11 @25 |20 | 11 |180| 35|19 | 6° S25R-STUCR/L11 @®31 |25 13.5/200 |40 |24 | 4°
820Q-STFCR/L16 ®25 |20 [11.5/180| 40|19 | 8° $20Q-STUCR/L16 ©25 |20 11.5(180 |40 |19 | 8°
S25R-STFCR/L16 ®31 |25 | 14 |200| 40 24 | 6° S25R-STUCR/L16 ®31 |25 14 |200|40 |24 | 6°
832S-STFCR/L16 TC OO16T300 ®39 |32 |17.5/250 45|30 | 4° M4 x10 T15 $32S-STUCR/L16 TCOO16T300 | ©39 |32 17.5(250 |45 |30 | 4° M4 x10 s
S40T-STFCR/L16 ®50 |40 |21.5/300 55|38 | 2° S40T-STUCR/L16 ®50 |40 21.5/300|55 |38 | 2°
S50U-STFCR/L16 ®60 |50 |26.5/350 60|48 | 0° S50U-STUCR/L16 ©60 |50 26.5(350 |60 |48 | 0°
— % STUBL] -] AR RE "
.......................... ] S :
H

&,
L
RS (Size)mm BREr "F
Serew ~ Wrench
L|Li|H|a «®
S06H-STUBR/L06-08 ®8 |8 | 4 100 20|7 |12°
S06K-STUBR/L06-10 ®8 | 10| 4 |125 20|9 |12° . "
A X
S06K-STUBR/LO6-12 | 1201080100 0 a™ 190 1 4 [125] 25| 11 | 12°
S06M-STUBR/L06-16 ®8 | 16| 4 |150| 2515 |12°

47 WWW.HARDLINE.SPB.RU WWW.HARDLINE.SPB.RU 48



H

ard

Line. Turning tools

Hard

Turning tools

Line.

Inner bore turning tool holder

( 8812920-29-24 )

STWCLI[]

EDRIIRRE

( 8812920-29-24 )

Inner bore turning tool holder

A BE B/l R} (Size)mm YRET WF
B e Insert ?E% ( ) Serew Wrench
Type = :
" \‘-?-3'1 b |®d] £ | L L1 |H |a® (®
S08K-STWCR/L09 TC 00902010 11 B |5.5(125/25 | 7 |12° M2.2x5 T7
S10K-STWCR/L11 ©®14 10| 8 125/ 25| 9 |10°
M2.5x5
S12M-STWCR/L11 ®16 (12| 9 150/ 30 | 11 | 8°
S16N-STWCR/L11 ®20 | 16| 11 160 30 |15 | 6°
TCOO10200 M2.5x7 T8
S520Q-STWCR/L11 ®25 |20 |13 |180| 35|19 | 4°
S20Q-STWCR/L16 ®25 | 20 14.5180 40 | 19 | 8°
S25R-STWCR/L16 ®©32 | 25| 17 |200| 45 | 24 | 6°
S32S-STWCR/L16 | TCOO16T300 | @39 |32 |20 250 46 | 30 | 4° M4 x10 T15
S40T-STWCR/L16 ®©50 | 40 | 24 300| 50 |38 | 2°
S50U-STWCRI/L16 ®60 | 50 | 25 350 60 48 | 0°

49

WWW.HARDLINE.SPB.RU

LAIARRE
5y = ———— g
_2?5-%}
~= L1
i Ferh J 5 (Size)mm BEET ;ﬁqﬁ
ﬂ % Insert . %é ( ] Serew Wrench
Type BT .
g Fiiin Pd| f |L [Ihi | H|a® m
S16N-SVQBR/L11 ®22 |16 [11.5/160| 35 | 15 | 10° 25 =
$20Q-SvaBR/L11 | VBULMOLUL ™o To0 14 [180 39 | 19 | 8° o
VAN Besh J 5 (Size)mm $RET wF
iﬂ. ‘%‘ Insert %é ( ) Serew Wrench
Type P e
" Gl o |®d| f | L |Li|H|a® «®
S16N-SVQCR/L11 ®22 |16 |11.5/160| 35 | 15 | 10° — T8
520Q-svQcR/L11 | JCEHNOHL o250 [14 [180] 39 | 19 | 8° .
J] )‘IL ﬁ"l\ R'T‘l":size mim !gﬁ ﬁ%ﬁ
7Y '%‘ Insert =4 %% { ) Serew Wrench
T e
e g o |®d| £ | L |[Li|H|a® ®
S20Q-SVQBR/L16 ®27 |20 |14 (180 50 | 19 | 8°
S25R-SVQBR/L16 ®32 |25 |16.5/200| 50 | 24 | 6°
S325-SVQBRI/L16 VBOCH6040001 | @41 |32 [22.5/250| 55 | 30 | 8° M4 x 10 T15
S40T-SVQBR/L16 ®50 |40 |27 |300| 55|38 | 6°
S52U-SVQBR/L16 ®61 |50 | 32 350 65 |48 | 4°
DI fie/h L 5H(Size)mm EET ﬁ%
ﬂ. ‘%‘ Insert — %% { ) Serew Wrench
Type i
e G Dmin |®d]| £ | L [L1 | H [a® 8
520Q-SVQCR/L16 ®27 |20 |14 [180 50 19 | 8°
$25R-SVQCRI/L16 ®32 |25 [16.5(200| 50 | 24 | 6° — -
$325-SVQCRI/L16 VCLEIe04N 1™ 41 T an [22.5/250] 55 | 30 | 8°
S40T-SVQCR/L16 ©50 |40 | 27 |300| 55 38 | 6°

WWW.HARDLINE.SPB.RU

50




Hard

Line. Turning tools

Hard

Turning tools

Line.

Inner bore turning tool holder

( 8812920-29-24 )

LAl RE
@
L1
7l J%‘ Insert %3&3 R_J‘( IIZE) Serew Wrench
P e 1
L Eésg e |®d| £ | L (L |H |a° f®
S16N-SVUBR/L11 ®22 |16 |11.5/160) 30| 15 (10°
VB OO110300 M2.5x7 T8
S20Q-SVUBR/L11 ®27 |20 | 14 |180| 32 19 | 8°
. VIR e/ s BET wF
ﬂ %‘ Insert —1 %% .R_"j‘{s.lze)mm Screw Wrench
T ‘r'?,-hc?;/
we @S e |@d| f | L1 | H e @
S16N-SVUCR/L11 Ve 001103000 ®22 |16 [11.5/160| 30 |15 10° i E -
S520Q-SVUCR/L11 ®27 |20 |14 |180| 32 |19 | 8° ==
VI g/ JF(Size)mm BRET wF
VNS Inaert____‘ %_.n% { ) Screw Wrench
Type e i
o = =7 b |®d| £ | L [Li|H |a° «(®
S520Q-SVUBR/L16 ®31 (20 |19 |180|50 |19 | 8°
S25R-SVUBR/L16 VB EILHEBALIE ®35 |25 |20 (200| 50 24 |6° M0 T15
S325-SVUBR/L16 ®42 |32 [22.5/250| 55 |30 | 8° 8
S40T-SVUBR/L16 ®51 |40 | 27 |300| 55 |38 | &°
7 kK Bl R F(Size)mm i2ET 1 F
bl %‘ Insert - j‘]]fé ( ] Screw Wrench
Type e >
7 = e |@d| £ | L |Li |8 |a® &
S20Q-SVUCR/L16 ®31 (20| 19 |180/ 50 19 | 8°
S25R-SVUCR/L16 ®35 |25 | 20 [200| 50 | 24 | 6°
VC 16040000 M4 x10 T15
S325-SVUCR/L16 ®42 |32 |22.5/250| 55| 30 | 8°
S40T-SVUCR/L16 ®51 |40 | 27 |300| 55 | 38 | 6°

51

WWW.HARDLINE.SPB.RU

( 8812920-29-24 )

Inner bore turning tool holder

EDRIARRE

ﬂ ‘%‘ Insert ?Eé T( IZE) Serew Wrench
b s - -
e é§ b |®d| £ | L |Li|H |a® ®
S16N-SVXBR/L11 ®22 16 |11 [160| 40 (15 [10°
VB OO1103000 M2.5x7 T8
S20Q-SVXBR/L11 ©27 |20 (13.5|180| 45 (19 | 8°
il %‘ Insert %Eé _j_( v )I'D Serew Wrench
T _e"-?—:f_";’?
" e Doin |®@d| £ | L |Li|H|a° ®
S16N-SVXCR/L11 Ve FiROL ®22 16 |11 [160| 40|15 |10° SR 14
S20Q-SVXCR/L11 ®27 |20 |13.5/180| 45|19 | 8° -
J1 ﬁ' T/l R_ Size)mm %%T ﬁzf_
f‘é E';‘ Insert 2 gﬂﬁjé: _‘j-( ) Serew Wrench
T o
" == b |®d| £ | L |Li|H|a® «®
S16N-SVXBR/L16 ®22 |16 (11.5160| 50| 15| 10°
S20Q-SVXBR/L16 ®27 |20 (13.5180| 50| 19 | 8°
S25R-SVXBRIL16 VBLICI160400] | ®32 |25 16|200| 50 | 24 | 6° M4x 10 T15
8325-SVXBR/L16 ©40 | 32 |19.5 250/ 60| 30| 8°
S40T-SVXBR/L16 ®50 | 40 |23.5300| 65| 38 | 6°
. VAN Bl i (Size)mm YRET ﬁ%a
# %‘ Insert . ?E% ( } Serew Wrench
il .t‘---ﬁ.;/ :
e P o |@d| £ | L |Li|H |a ®
S16N-SVXCR/L16 ©22 |16 |11.5160( 50 | 15 | 10°
S20Q-SVXCR/L16 ®27 20 |13.5/180| 50 |19 | 8°
S25R-SVXCR/L16 VBODH6040] | ®32 |25 | 16 [200| 50 |24 | 6° M4 x 10 T15
S5325-SVXCR/L16 ®40 | 32 |19.5/250| 60 | 30 | 8°
S40T-SVXCR/L16 ®50 40 |23.5/300| 65 |38 | 6°

WWW.HARDLINE.SPB.RU

52



Hard Hard

Line. Turning tools Turning tools Line.

Inner bore turning tool holder 8 812 920-29-24 8 812 920-29-24 Inner bore turning tool holder

PN 2 SWUB[ ][ ]-[1[] EDAIARRE

Vi fit/h o (Saojmm B247 wF 7K B/ Je (Size)mm ) nF
ﬂ' ‘% Il';l;t =y %é ( ) Secrew Wrench ﬂ %‘ Insert %Iijflé ( ) Serew Wrench
Type L ; Type =T : :
et w |®d| L |Li|H|a° (@ \‘ : @{ m |®d f|L|Li|H|a® @
Dmin Dmin
S16N-SVZBR/L11 ®22 |16 |11.5/160| 34 | 15 |10° S06H-SWUBRO06-08 o7 8 |33(100 18|7 |15°
VB 00110300 - M2.5x7 T8
S20Q-SVZBR/L11 ®27 |20 |14 |180| 37|19 | 8 S06K-SWUBRO06-10 o7 10 (3.3 (125|209 |[15° T T6
.0x
S06K-SWUBRO0O6-12 WBGT0601LIL] 7 12 (3.3 (125| 25|11 |15°
B Jisjj ﬁgj:‘ St (Size)mm Eg f‘ﬁ S06M-SWUBRO6-16 ©7 |16 |33[150| 2515 |15°
T = Lz
e éwg pia |®d| £ | L |Li|H |a® @
S16N-SVZCR/L11 VB 06800 ®22 |16 [11.5|/160| 34| 15 |[10° M2.5% 7 T8
X
S520Q-SVZCR/L11 ®27 |20 | 14 |180| 37 |19 | 8°
VIS Bl F(Size)mm BRET "F
Gt} %‘ Ing&ﬁrl__1 g]_,u]&; R ( ) Serew Wrench
'L e .
e éjg b ldd| f | L |1 |H|a® «®
S25R-SVZBR/L16 ®34 | 25 (19.5(200| 50 |24 | §°
S325-SVZBR/L16 ©42 | 32 [23.5(250| 50 |30 | 8°
VB OC116040000 M4 x10 T15
S40T-SVZBR/L16 ®50 | 40|27 |300| 60 |38 | 6° Sy
S50U-SVZBR/L16 ®60 | 50 |31.5(350| 65 |48 | 4°
WIS e J+F(Size)mm BRET ﬁEF‘
w = Insert 5y jiné Tj‘{ ) Serew Wrench
Type R
= e Pmin |®d| £ | L [Li|H |a° «®
S25R-SVZCR/L16 ®34 |25 (19.5/200| 50| 24 | 6°
S325-SVZCR/L16 ®42 | 32 |23.5/250| 50| 30 | 8° Max 10 T15
X
S40T-SVZCR/L16 ve o604t ®50 |40 | 27 |300| 60| 38 | 6°
S50U-SVZCR/L16 ®60 |50 (31.5/350| 65|48 | 4°

53 WWW.HARDLINE.SPB.RU WWW.HARDLINE.SPB.RU 54



Hard
Line.

Turning tools

55

q': 8 812 920-29-24 h i | hol
BaHR P SRR ’ & g ' Thread turning tool holder
. H 100
N | HERX s K [125 || T RN
A7 : mm
[ JJ #F FI00% 7 M | 150
E A 45 2L P 170 L. 7o M E
Q 180
S E R||25|/125|| M || 16
He %7 X VI EI 7 JI 58 1 AR RS
5 = R A1) e =ik A ] 5]
AT mm i I {
BIFfFR RS [ 11 11 [ 6.35 o
BT M B E pashvl] |16 16 9.525
22 22 12.70
12 #2 7] A/ BU S #m i 5% B8
R A PIHE 5 )
Py R A
E AP 1 L Y8l
16 N R 1.75 ISO
J kRt PR PR AR S B2 2 s HE LS
(= =MLk A T [5 ;ﬂ i(\‘)l_}lt_) !%1;?'5 -
: 0. =0.75mmi% gb =, y 4
11 11 6.35 2, . #/inch ]SO_-_ISO?KjFHEZS{
fil: 8=8f1/inch W= 2R AL
16 16 9.525 3. AG60: 60° 7 IEFE
22 22 12.70

WWW.HARDLINE.SPB.RU

WWW.HARDLINE.SPB.RU 56



Hard
Line.

Hard

Line. Turning tools

Turning tools

Thread turning tool holder Thread turning tool holder

[ 8812920-29-24

( 8812920-29-24 )

57

WWW.HARDLINE.SPB.RU

WWW.HARDLINE.SPB.RU

SNR/LLI[C] tIAlIARRE SER/LL][] " LIAIRRRE
:"\[6:
i !
i 0
) J 5 (Size)mm 7K J) A 44T 4T RF _ .
ﬁjﬂ ‘%‘ T - } Insert Shim Serew Shim screw Wrench R#(Size}mm A H_ 7 Hﬂ ﬁﬁ mjg‘g ﬁ$
Type Lz ; " ? &7y ’ g'% 5 I_nsgi_'.l Shim Screw Shim serew Wrench
Dmin dd f |L |Li|H |« -.-.- . é!@ﬁ ype h b I Ei hi [ P‘A; ' w
SNR/L0010K11 ®12 | 10|72[125/ 18| 9 :
SNR/L0012K11 ©15| 12|8.7[125/ 18| 11 TINRALL X M2.5%6 5 % SER/LTOTORTH A0 |90 [10D] 18 | 10| 98 11ER/LOIO X M2.5x6 X T8
: SER/L1212H11 12 | 12 [100| 16 | 12 | 16
BNRAG016M18 B9 18415150 25 145 X M3.5% 10 X Ti5 SER/L1212H16 12 | 12 [100| 20 | 12 | 18 | 16ER/LOIC] X M3.5x 10 X Ti5
SNR/L0020Q16 ®24 | 20 |13.5/180| 28 |18.4 = 16 16 11001 20 (16 |20
SNRADIZLRIC $29/| 25| 16,|200):32 |24 16NR/LOIC] SER/L2020K16 20 | 20 |125 22 |20 |25 | .. | STM1603/ | \3sxi2 o -
32 19.5/250| 38 | 30 . x
SNRLO032S16 | 936 > 150 gm:ggif_ M3.5x 12 M3 x8C T15 SER/L2525M16 | 25 | 25 [150 22 | 25 | 32 STM1603L
SNR/L0O040T16 ®44 | 40|23.5/300| 42 | 38 T w5 |8 [1o0] o e =
50 |28.5/350| 50 | 48
:::,{txz:;: :z: 25| 18 |200| 32 [23.4 SER/L2525M22 | 25| 25 | 150 26 |25 |32 |  conco | STM22TS | yusuiz | maxioc TS
- SER/L3232P22 32 | 32 [170| 28 | 32 | 32 STM22T3L T20
SNR/L0032522 38 | 32 |21.5/250| 38 | 30 SRR STM22T3/ o 120
SNR/L0040T22 ©46 | 40 |25.5/300( 42 | 38 STM22T3L | M4.5x12 % T15
SNR/L0050U22 ®56 | 50|30.5/350| 50 | 48
SER/LCI[]-B L PIAIARRE
SNR/L[1[]-16 &l 4k 8E r, &=
4 E =
=] 4©: \
o [}
I e 0|
% L1
L
” R H(Size)mm VAN # R BRET (UESa) BF
it =5 ._I_l"l__se‘r't Shim Screw Shim serew Wrench
fie/y S (Size)mm 7K 5T wT Toge hI| b | T | Ly | ke | & ?", . ’
w5 MI ( ) Insert Serew Wrench : m
Type e @i v e Ll g e ‘?}T‘ m SER/L1212H16-B | 12 | 12 |100| 20 |12 |18 | 16ER/LLIC] X M3.5x10 X T15
Dmi : ”~
szl = SER/L1616H16-B | 16 | 16 [100| 20 | 16 | 20 g "
= 1603
SNROO10L11-16 | ®12|10 |7.2|140| 28 4.6 N i 8 SER/L2020K16-B | 20 | 20 |125| 22 | 20 |25 | 16ERLOICI | grpyieoaL | M3-5%12 M3x8C T8
SNR0012L11-16 | ®15|12 |8.7|140| 33 [14.6|15° SER/L2525M16-B | 25 | 25 150 22 | 25 |32
SNRO013M16-16 | ®17 |16 | 10|150| 33 14.6 16NR/LLCIC] M3.5x10 T15

58



Hard Hard

Lil'le. Turning tools Turning tools Line.

Groov turning tool holder 8 812 920-29-24 ' ' 8 812 920-29-24 Groov turning tool holder

ZQUILIR/L | EIAIARRE

R F(Size)mm VIR BT wF
= Insi-:;rl Serew Wrench
ype L
W | b | h | L | h | f |[Tmax < ‘ -
6R/L-03 |3.125| 16 | 16 | 100 | 16 | 16.4 | 18 '
/ 3125 20 | 20 | 125 | 20 | 20.4 | 20 Mg Lo:0
QRIL-05 [& | | 20- ZQMX3N11-1E |
5R/L-03 [3.125| 25 | 25 | 150 | 25 | 25.4 | 20 SP 300 o
M5 x 16 L4.0
2R/L-03 |3.125| 32 | 32 | 170 | 32 | 254 | 25
6R/L-04 | 4.125| 16 | 16 | 100 | 16 | 16.4 | 18 M4 x 16 L3.0
OR/L-04 |4.125| 20 | 20 | 125 | 20 | 20.4 | 20 | 7QMx4N11-1E '
5R/L-04 |4.125| 25 | 25 | 150 | 25 | 25.4 | 20 SP 400 M5 x 16 L4.0
2R/L-04 |4.125| 32 | 32 | 170 | 32 | 254 | 25
5R/L-05 |5.125| 25 | 25 | 150 | 25 | 255 | 25 2 —
ZQMX5N11-1E T o
2R/L-05 |5.125| 32 | 32 | 170 | 32 | 255 | 25 SP 500
5R/L-06 6.4 25 25 150 | 25 | 25,5 | 32 ZOMXBEN11-1E
M6 x 28 L5.0
2R/L-06 6.4 | 32 | 32 | 170 | 32 | 255 | 32 SP 500

59 WWW.HARDLINE.SPB.RU WWW.HARDLINE.SPB.RU 60



Hard Hard

Line. Turning tools Turning tools Line.
Groov turning tool holder 'f"._ 8 812920-29-24 ) 8 812 920-29-24 Groov turning tool holder
MGEHR/L[I[] L EDAIARBE STGFR/LI[] \ . EDRIR R
.. Imax
% © o -l -
= | 1
= L1
R-F(Si K BRET #1F (S pIN HRET
= Tj_{ i Insert Serew Wrench Gt = R_]-(SIZEJmm Insert Screw Wrerich
Fpe -l Type
. W | b | h | L | W[ |Tm ﬁ'-f/ ‘ * -3 = Wl b | | L | Li|wm| ¢ ‘ o®
MGEHR/L1616-2 2 16 | 16 | 100 | 16 | 16 | 16 L3. STGFR/L1010F16 12
MGMN200 M5 x 16 3.0 10 | 10 | 80 10
MGEHR/L2020-2 2 20 20 | 125 | 20 20 16 L4.0 STGFR/L1212H16 12 12 100 12 16
e MGEHR/L1616-3 3 16 | 16 | 100 | 16 | 16 | 20 L3.0 STGFR/L1616H16 09;30"30 16 | 16 | 100 | 185 | 16 | 20 | TGF32R/LOIOO M4 x 10 T15
MGEHR/L2020-3 3 | 20 | 20 | 125 | 20 | 20 | 20 mggﬁggg i STGFR/L2020K16 " 20 | 20 | 125 20 | 25
x
MGEHR/L2525-3 3 | 25 | 25 | 150 | 25 | 25 | 20 MRMN300 L4.0 STGFR/L2525M16 25 | 25 | 150 25 | 32
MGEHR/L3225-3 4 25 | 32 | 170 | 32 | 25 | 20
MGEHR/L1616-4 4 16 | 16 | 100 | 16 | 16 | 20 L3.0
MGEHR/L2020-4 4 20 | 20 | 125 | 20 | 20 | 20 mggmgg
M5x 16 —
— MGEHR/L2525-4 4 25 25 | 150 | 25 25 20 MRBMN400 L4.0 i
MGEHR/L3232-4 4 32 | 32 | 170 | 32 | 25 | 20
MGEHR/L2020-5 | 5 | 20 | 20 | 125 | 20 | 20 | 25 N— M5 x 16 L4.0 STGFR/LL][]-F . DA
MGEHR/L2525-5 5 25 | 25 | 150 | 25 | 25 | 25 MGGN500
MRMN500 MExi18 L5.0 '
MGEHR/L3232-5 | 5 | 32 | 32 | 170 | 32 | 25 | 25 ©) 0
MGEHR/L2525-6 6 25 25 150 25 25 25 MGMNB00 T =
MGGN600 MEx18 L5.0
MGEHR/L3232-6 6 32 | 32 [ 170 | 32 | 25 | 25 MRMNG00
| =]
- B T
R(Si I HRET
® = T( ize)mm Insert Serew Wrench
Type
: W | b | b | L | L|w]|T¢ «®
STGFR/L1010K16-F 10 | 10 | 100 10 | 10
STGFR/L1212F16-F 12
0.33 L - P O L s Y A | M4 x10 T15
STGFR/L1212M16-F | ~3.00 12 | 12 | 150 12 | 12
STGFR/L1616M16-F 16 | 16 | 170 16 | 16

61 WWW.HARDLINE.SPB.RU WWW.HARDLINE.SPB.RU 62



Hard Hard

Line. Turning tools Turning tools Line.

Groov turning tool holder 8 812 920-29-24 8 812 920-29-24 Groov turning tool holder

FGHH] EDEI4R B MGIVR/LOC] \ B AR B

h1
h
T“ g

] Tmax @ =

R ~Fsi J R IRET wF RJ(si 1k BRET 1T
by %‘ Tj_( 1ze}mm Insert Serew Wrench b %‘ _J-( 1ze]mm Insert Screw Wrench
Type . o Type S
b h 1 hi f Tmax| Dmin-Dmax i" ‘ N W dd f I L1 H N ‘ N
FGHH320L-20/30-T15 $®20-$30 MGIVR/L2016-2 16 | 124 125 | 35 15 M4x10 T15
FGHH320L-24/36-T15 $24-$36 MGIVR/L2520-2 2.0 | 20 14 | 150 | 45 18 MGMN200 M5 x 12 T20
20 | 20 125 | 20 | 20 | 15 FMM300R
— % FGHH320L-30/44-T15 $30-p4a4 MGIVR/L2925-2 25 [17.25| 200 | 45 23 M5 x 23 L4.0 o
FGHH320L-38/56-T15 $38-$56 - MGIVR/L2520-3 20 | 15.6| 150 | 45 18 M4 x 13 L3.0
x
FGHH320L-50/72-T20 $50-p72 MGIVR/L3125-3 30| 25 | 18.9| 200 | 45 23 MGMN300 — -
FGHH320L-66/110-T20 $66-p110 FGM300R MGIVR/L3732-3 32 | 21.5| 250 | 65 30
20 | 20 [125 | 20 | 20 | 20
FGHH320L-100/200-T20 $100-d200 MGIVR/L2520-4 20 | 15.6| 150 | 45 18 M4x13 L3.0
FGHH320L-180/800-T20 $180-¢p800 | FGD300R MGIVR/L3125-4 | 4.0 | 25 | 18.9 | 200 | 45 | 23 MGMN400
— % FGHH325L-20/30-T15 $20-30 MGIVR/L3732-4 32 | 215| 250 | 65 30 77, S
- - ; MGIVR/L3125-5 25 | 19.4| 200 | 45 23
FGHH325L-24/36-T15 | 55 | 25 | 150 | 25 | 25 | 15 | $24=936 | Emm300R 5.0 K6 M5x23 L4.0
FGHH325L-30/44-T15 $30-baa MGIVR/L3732-5 32 | 215| 250 | 65 30
FGHH325L-38/56-T15 $38-b56 MGIVR/L3125-6 25 | 19.4| 200 | 45 23
M6 x 25 6.0 MGMNB00
FGHH325L-50/72-T20 d50-72 MGIVR/L3732-6 32 | 21.5| 250 65 30
FGHH325L-66/110-T20 | .. | oo | 450 | 25 | 25 | 20 | $E6-0110 FGM300R
FGHH325L-100/200-T20 ®100-b200 o
FGHH325L-180/800-T20 ®180-b800 L5.0
FGHH420L-20/32-T20 $20-h32
FGHH420L-24/36-T20 o | woolllwss. | 25 | 25 | 20 $24-b36
FMM400R
FGHH420L-28/44-T20 $h28-daa
FGHH420L-36/56-T20 $36-d56 56
FGHH420L-48/74-T25 h48-h74
FGM400R
FGHH420L-66/110-T25 | o | o9 | 125 | 20 | 20 | 25 | $86-9110
FGHH420L-100/200-T25 $100-h200 FGD400R
FGHH420L-180/800-T25 $180-$800
FGHH425L-20/32-T20 $20-b32
FGHH425L-24/36-T20 5 || amwes | s | wg | 85 24— 36 FMM400R
FGHH425L-28/44-T20 b28-dba4
FGHH425L-36/56-T20 $36-b56
FGHHA425L-48/74-T25 d48-b74 Mex2e
FGHH425L-66/110-T25 | ,r | oc | 150 | 25 | 25 | o5 | $66-0110 FGM400R
FGHH425L-100/200-T25 ®100-200 FGD400R
FGHH425L-180/800-T25 &180-b 800

63 WWW.HARDLINE.SPB.RU WWW.HARDLINE.SPB.RU 64



